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Fluency in Number
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26 + 63

37 =
/N /\
20 6 30 7

20 + 30 = 50
6+7=13
50 + 13 = 63

Figure 57: adding 26 and 37 by partitioning

26 + 30 = 56
56 +7 =63

Figure 58: adding 26 and 37 by partitioning
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63 -10=153 63 -7 =256
45 + 23 = 60 + 8 53 -7 = 46 56 - 10 = 46
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Fluency in Number

Identifying core number facts: Identifying core number facts:
short multiplication short division
3 4 2 6 1 9
" ! 84,% 5 "2
2,3 9 4 Figure 171: short division of 4,952 by 8
2 1

Figure 170: short multiplication of 342 by 7

Within-column calculations:

7x2=14
7x4+1 =28+1
7x3+2=21+2

Within-column calculations:

4+8=0r4
49 +8=6r1
15+8=1r7

2+8=9




Information for parents:
2023 multiplication tables check
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» Arecently introduced annual check on the times table knowledge of Year 4
pupils in England and Wales.

» There is a national 2 week window in June for the check to be completed.

> Pupils will complete the check on an iPad and will be familiar to the layout o .« M7 |
prior to the check.

» There is no formal pass mark but your child’s score will be shared with you in
the Summer reports.

» Children will be given six seconds to answer each of the questions, with
a three second blank gap between each question. The whole process will take
around 5 minutes.



https://assets.publishing.service.gov.uk/government/uploads/system/uploads/attachment_data/file/1116420/2023_Information_for_parents_Multiplication_tables_check_Nov_22_PDFA.pdf

Our approach

1 times 2 times 3 times 4 times 5 times 6 times 7 times 8 times 9 times 10 times 11 times 12 times
tables tables tables tables tables tables tables tables tables tables tables tables
1x1=1 1x2=2 1x3=3 1x4=4 1x5=5 1x6=6 1x7=7 1x8=8 1x9=9 1x10=10 1x11=11||1x12=12
144
2x1=2 2x2=4 2x3=6 2x4=8 2x5=10 2x6=12 2x7=14 2x8=16 2x9=18 2x10=20 2x11=22 2x12=24 facts
3x1=3 3x2=6 3x3=9 3x4=12 3x5=15 3x6=18 3x7=21 3x8=24 3x9=27 3x10=30 3x11=33 3x12=36
4x1=4 4x2=8 4x3=12 4x4=16 4x5=20 4x6=24 4x7 =28 4x8=32 4x9=36 4x10=40 4x11=44||4x12=48
5x1=5 5x2=10 5x3=15 5x4=20 5x5=25 5x6=30 5x7=35 5x8=40 5x9=45 5x10=50 5x11=55 5x12=60
6x1=6 6x2=12 6x3=18 6x4=24 6x5=30 6x6=36 6x7=42 6x8=48 6x9=54 6x10=60 6x11=66||6x12=72
7x1=7 7x2=14 7x3=21 7x4=28 7x5=35 7x6=42 7x7=49 7x8=56 7x9=63 7x10=70 7x11=77 7x12=84
8x1=8 8x2=16 8x3=24 8x4=32 8x5=40 8x6=48 8x7=56 8x8=64 8x9=72 8x10=80 8x11=88 8x12=96
9x1=9 9x2=18 9x3=27 9x4=36 9x5=45 9x6=54 9x7=63 9x8=72 9x9=81 9x10=90 9x11=99||9x12=108
10x1=10| |10x2=20]| |10x3=30| |[10x4=40| |10x5=50| |10x6=60| |10x7=70| |10x8=80| |10x9=90| |]10x10=100| |10x11=110| |10x12=120
11x1=11| |11x2=22| |11 x3=33]| |11x4=44| |11 x5=55| |11x6=66| |11 x7=77| |11x8=88| |[11x9=99| [11x10=110| |11x11=121| |11x12=132
12x1=12| |12x2=24]| |12x3=36| |12x4=48| |12x5=60]| |12x6=72]| |12x7 =84| |12x8=98| |12x9=108| |12x10=120| |12x11=132| |[12x12=144




Our approach

1 times 2 times 3 times 4 times 5 times 6 times 7 times 8 times 9 times
tables tables tables tables tables tables tables tables tables
1x1=1 1x2=2 1x3=3 1x4=4 1x5=5 1x6=6 1x7=7 1x8=8 1x9=9
2x1=2 2x2=4 2x3=6 2x4=8 2x5=10||2x6=12 2x7=14 2x8=16 2x9=18
3x1=3 3x2=6 3x3=9 3x4=12||3x5=15 3x6=18||3x7=21 3x8=24 3x9=27
4x1=4 4x2=8 4x3=12| |4x4=16||4x5=20||4x6=24||4x7=28 4x8=32 4x9=36
5x1=5 5x2=10||5x3=15||5x4=20||5x5=25||5x6=30||5x7=35 5x8=40| |5x9=45
6x1=6 6x2=12 6x3=18||6x4=24||6x5=30||6x6=36||6x7=42 6x8=48 | |6x9=54
7x1=7 7x2=14 | |7x3=21| |7x4=28||7x5=35||7x6=42||7x7=49| |7x8=56||7x9=63
8x1=8 8x2=16| |8x3=24||8x4=32||8x5=40||8x6=48||8x7=56| |8x8=64||8x9=72
9x1=9 9x2=18 | |9x3=27||9x4=36||9x5=45||9x6=54||9x7=63 9x8=72|]|9x9=81
10x1=10| |10x2=20| [10x3=30| |10x4=40| |10x5=50| |10x6=60| |10x7=70| |10x8=80| [10x9=90
11x1=11] |11x2=22| |[11x3=33| |11x4=44| |11 x5=55| |11x6=66| |11x7=77| |11x8=88| [11x9=99
12x1=12| [12x2=24| |12x3=36| |12x4=48| [12x5=60| |12x6=72| |12x7 =84| |12x8=98| [12x9=108




Our approach

96
facts

2 times 3 times 4 times 5 times 6 times 7 times 8 times 9 times
tables tables tables tables tables tables tables tables
1x2=2 1x3=3 1x4=4 1x5=5 1x6=6 1x7=7 1x8=8 1x9=9
2x2=4 2x3=6 2x4=8 2x5=10||2x6=12||2x7=14| |2x8=16||2x9=18
Ix2=6 3x3=9 Ix4=12 3x5=15 3x6=18 Ix7=21 Ix8=24 Ix9=27
4x2=8 4x3=12 4x4=16 4x5=20||4x6=24 4x7 =28 4xB8=32 4x9=36
5x2=10]| |5x3=15| |5x4=20||5x5=25||5x6=30||5x7=35| |5x8=40]| |5x9=45
6Ex2=12 ]| |6x3=18| |6x4=24||6x5=30||6x6=36||6x7=42| |6x8B=48| [6x9=54
Tx2=14 | |7x3=21| |7x4=28||7x5=35||7x6=42||7x7=49| |7x8=56]||7x9=63
Bx2=16||8x3=24| |8x4=32||8x5=40| |8x6=48| |8x7=56| |8x8=64||8x9=72
9x2=18| |9x3=27| |9x4=36||9x5=45||9x6=54 | |9x7=63| |9xB=72]||9x9=81
10x2=20| [10x3=30| [10x4=40| |10x5=50( [10x6=60| |10x7=70| |10x8=80| |[LO0x9=90
11x2=22| |[11x3=33| |11x4=44| |11x5=55| |[11x6=66| [11x7=77| |11x8=88| |11x9=99
12x2=24| |112x3=36| |[12x4=48| [12x5=60| |12x6=72]| |12x7 =84| |12x8=98| [12x9=108




Our approach

2 times 3 times 4 times 5 times 6 times 7 times 8 times 9 times
tables tables tables tables tables tables tables tables
2x2=4 2x3=6 2x4=8 2x5=10)||2x6=12 2x7=14 2x8=16 2x9=18
3x2=6 3x3=9 3x4=12 3x5=15 3x6=18 3Ix7=21 3x8=24 3x9=27
4x2=8 4x3=12||4x4=16||4x5=20||4x6=24||4x7=28 4x8=32]|14x9=36
5x2=10| |5x3=15| |5x4=20||5x5=25||5x6=30||5x7=35 5x8=40| |5x9=45
6x2=12 6x3=18 6x4=24||6x5=30||6x6=36 6x7=42 6x8=48 6x9=54
7x2=14 | |7x3=21||7x4=28||7x5=35||7x6=42||7x7=49 7x8=56||7x9=63
8x2=16||8x3=24| |8x4=32||8x5=40||8x6=48||8x7=56 8x8=64||8x9=72
9x2=18||9x3=27||9x4=36||9x5=45||9x6=54||9x7=63 9x8=72]||9x9=81




Our approach

The 36 essential facts

2 times 3 times 4 times 5 times 6 times 7 times 8 times 9 times
tables tables tables tables tables tables tables tables
2x2=4

3Ix2=6 3Ix3=9

4x2=8 4x3=12]| |4x4=16

5x2=10 5x3=15 Ex4=20]||5x5=25

6x2=12 | |6x3=18| |6x4=24||6x5=30||6x6=36

Tx2=14 | |[7x3=21 | |7x4=28||7x5=35||7x6=42| |7x7=49

8x2=16| |8x3=24||8x4=32||8x5=40||8x6=48||8x7=56| |8x8=64
I9x2=18||9x3=27||9x4=36||9x5=45||9x6=54||9x7=63| |9x8=72||9x9=81




Our approach

The 36 essential facts

7 x4=28

4x7 =28




What does this look like in the classroom?

» Conceptual lessons prior to each new times table 5
1x3= 3
2x3= 6 3x2=6 (2 times table)

3x3= 9 3x3=9 (square times table)

6x3=18
7x3=21
8x3=24
9x3 =27
10x 3 =30
11 x3 =33

4x3=12 ‘ i*
bx3=15 3x5=15 (5 times table)
Lol 2
.




What does this look like in the classroom?

» Conceptual lessons prior to each new times table

» ‘Essential Facts’ display up in the classroom




What does this look like in the classroom?

» Conceptual lessons prior to each new times table
» ‘Essential Facts’ display up in the classroom

» Daily times table check in structured booklet

21 22
2x3=_ | ax3=__ | ax3=___ | 5x9=__ 21+3=_ | 7x7=___ | 6x6=___ | 4ax2=__
12+3=__ | 9+3=__ 3x65=_ | 36+6=__ 4x5=_ 4x4=__ 7x7=____ 4x4=__
6x3=__ 9x2=__ | 12+3=__ | 20+5=__ 2x7=__ 4x4=_ | 10+5=__ | 6x5=__
3x2= Tx7= 3x4= 6x2= 5x2= 9+3= 3xg§= 18+3=
2x3= 2x8= 6x3= 6x3= 36+6= 6x5= 4x3= 9x3=
6+3= 5x7= 18+3= 9%x9= 5x5= 12+2= 2x9= 5x2=
3x3= 12+2= 4x3= 2x9= 2x4= Ixd= 2x7= 16+2=
4%x3= 2x4= 4%x3= 5x7= 9x3= 2x8= 49+7= ix9=
9+3=_ | 2x7=__ | 9+3=_ | 3x4=__ 5x6=__ Ixg=_ 2x2=_ 2x4=__
3x3=____ 6x6=__ 6x3=__ 8x5=__ 5x5=__ | 40+5=__ | 3x2=__ 4x5=__
3x6=_ 8x8=_ Ix5=_ 8x8=_ Tx7=__ 2x3=_ Ix3=_ 2x6=_
5x3=_ | 9x9=_ | 2x3=_ | Bx5=__ 4+2=_ | 3x7=_ | 3x3=_ | s5x4=_
2x3= 9x5= Ix2= 5x5= 14+2= 3x9= 15+3= 9x2=
18+3= 25+5= 15+3= 2x2= 2x2= Ix6= 7x5= 81+9=
Ix4= 4x4= 6x3= 14+2= 7x5= 9x2= 5x7= 7x2=
Ix4= 5x6= 2x3= Bx2= 5x7= 20+6= 5x8= IxT=
15+3= 4x5= 6+3= 49+7= 4x3= 2x6= 8x5= 5x3=
fx3= Ix5= Jxdq= dxd= 2x9= 2x5= l6+2= 8=x3=
3x3=_ | 40+5=__ | 4x3=_ Ix65=__ Bx3=_ Ix2=_ 5x5=_ | 4+2=
3x5=_ 6x3=__ 3x3=_ Ix3=_ _S5x3=__ | 6x3= 7x3=__ Ex6=__




What does this look like in the classroom?

Conceptual lessons prior to each new times table
‘Essential Facts’ display up in the classroom

Daily times table check in structured booklet

vV v v Vv

Structured recall/chanting

Mz R

Moy
 9x3

8x3w IxTe
a3 3x7e
x9= L Bxls




Let's have a go!

»2 minute timer



https://www.google.com/search?q=2+minute+timer&rlz=1C1GCEB_enGB1073GB1073&oq=2+minute+timer&gs_lcrp=EgZjaHJvbWUyDwgAEEUYORiDARixAxiABDIHCAEQABiABDIHCAIQABiABDIHCAMQABiABDIHCAQQABiABDIHCAUQABiABDIHCAYQABiABDIHCAcQABiABDIHCAgQABiABDIHCAkQABiABNIBCDI1NDdqMWo3qAIAsAIA&sourceid=chrome&ie=UTF-8

How can you support your child?

» Repeating number facts in the same way - largest fac

first

» Linking division facts to the multiplication fact (largest

factor first)
» Card system - regular rehearsal

» Check in and celebrate their daily efforts
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